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Guess Paper – 2008

Class – XII
Subject – Mathematics

1. Write down  formula for  S.D. between  two  lines.

2. Find angle between line r=2i-j+3k +ג  (3i-j+2k)  and  plane r.(i+j+k)=3.
3. Find  direction cosines of a line which  is  equally  inclined with  the  axes.

4. If a line makes angles ∏ /4  with each of X –axis and Y-axis, then  what  angle does it makes with  the  Z- axis.

5.  A bag contains 3 red and 7 black balls .Two balls are drawn one after the other without replacement at random from the  bag . If the second selection is given to be red , what is the  probability that the first is also red .

6. Find mean of the   probability distribution of the random variable ‘no. of tails’ when three   coins are tossed.

7. A die is thrown ten   times. If getting a prime number is   considered as success find the  probability of getting  more than  eight  successes.

8. Find the distance of the point (2,-1,3)  from the plane

                                       r.(5i+2j-7k)+12=0

9.Find the coordinate  of  the  foot  of  perpendicular drawn  from the  point(1,2,1) to the  line  joining the  points (1,4,6)  and  (5,4,4).

10.Find  the  equation of the  plane through  the  point (2,3,4) and  parallel to the  plane  r.(2i-3j+5k)+7=0.

11.A speaks  truth in 60 percent of the cases and B in 90 percent of the cases .In what  percentage of  cases , are they likely  to  contradict each other in stating  the  same  fact.
12.A box contains 4 gold  and  3  silver  coins .Another  box contains 3 gold  and 5  silver  coins . A box  is  choosen  at  random and a coin is  drawn from it .If the selected  coin is a gold  coin find the  probability that  it was drawn from the  second box.

13 .Find the equation of the plane passing through the points (3,2,1) and (0,1,7) and parallel to the  line  r=2i-j+k+ ג (i-j-k).
14 .Reduce the equation 2x-6y+3z=24 to  the intercept  form.

15. Find the distance of the point (2,3,4) from the  plane 3x+2y+2z+5=0.

16. Find image of the point (0,2,3) in the line r= j+2k + ג (i+2j+3k).
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